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𝐴 + 𝐵 ⇄ 𝐶

𝑘𝑎

𝑘𝑑
When [B} is sufficiently large ([B]>>[A]),

𝐴 ⇄ 𝐶

𝑘𝑎𝐶𝐵
0

𝑘𝑑

The kinetic equation is thus −
𝑑𝐶𝐴
𝑑𝑡

= 𝑘𝑎𝐶𝐵
0𝐶𝐴 − 𝑘𝑑𝐶𝐶

−
𝑑𝐶𝐴
𝑑𝑡

= 0

From mass balance, 𝐶𝐴
𝑜 = 𝐶𝐴 + 𝐶𝐶 𝐶𝐶 = 𝐶𝐴

𝑜 − 𝐶𝐴

Substitution of (3) in (4) gives rise to

−
𝑑𝐶𝐴
𝑑𝑡

= 𝑘𝑎𝐶𝐵
0𝐶𝐴 − 𝑘𝑑 𝐶𝐴

𝑜 − 𝐶𝐴 = 𝑘𝑎𝐶𝐵
0 + 𝑘𝑑 𝐶𝐴 − 𝑘𝑑𝐶𝐴

𝑜

At equilibrium 𝑘𝑎𝐶𝐵
0 + 𝑘𝑑 𝐶𝐴

∞ = 𝑘𝑑𝐶𝐴
𝑜

Substitution of (6) in (5) gives rise to

−
𝑑𝐶𝐴
𝑑𝑡

= 𝑘𝑎𝐶𝐵
0 + 𝑘𝑑 𝐶𝐴 − 𝐶𝐴

∞ −
𝑑𝐶𝐴

𝐶𝐴 − 𝐶𝐴
∞

1

𝑑𝑡
= 𝑘𝑎𝐶𝐵

0 + 𝑘𝑑 𝑘𝑎 𝑎𝑝𝑝 −
𝑑 𝐶𝐴 − 𝐶𝐴

∞

𝑑𝑡
= 𝑘𝑎𝐶𝐵

0 + 𝑘𝑑

A: intercalator; B:DNA, C: DNA-intercalator complex(1)

(2)

(3)

(4)

(5)

(6)









の二次反応速度式れを導出せよ。

課題レポート

A + B ⟶ P
ただし、反応物質𝐴, 𝐵の初濃度をそれぞれ𝑎, 𝑏とし、時間𝑡後の生成物質𝑃の濃度を𝑥とする。


